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Cl1 | C2 | Cc3 | c4 | Cc5 | Ce6 | CT7T | C8
R1 1 0 0 0 1 0 1 0
R2 0 1 0 1 1 1 1 1
R3 0 0 0 0 1 0 1 0
R4 0 1 0 0 1 0 1 0
R5 1 0 0 1 1 1 1 1
R6 0 0 0 0 1 1 0 0
R7 0 1 0 1 0 0 1 0
R8 1 0 1 0 0 0 0 1
fE | 0x91 | 0x4A | 0x80 | 0x52 | Ox3F | 0x32 | Ox5F | 0x92
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byte d[]1={0x91, 0x4a,0x80,0x52,0x3£f,0x32,0x5f,0x92};
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byte cl[]l={0x7£, 0xbf, 0xdf, Oxef, 0xf7,0xfb, 0x£fd, Oxfel;
byte dl[]l={0x91, 0x4a, 0x80,0x52,0x3£f,0x32,0x5f,0x92};
void setup () {
DDRB=0xFF;
DDRC=0xFF;
}
void loop () {
for (int i=0 ;i<=7;i++) {
PORTC=c[i];//4&4k
PORTB=d[il;//&#
delay (1) ;//delay (500)
}

}
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